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: : #include <stdio. h>
#include <stdio.h> int main(void)
int main(void) inta, b s d
int a, b, ¢ Z _ gi
a=2, ;
b=2: b = 2,
c=4; § =8 +a ”
printf (“1kaime no s = %d¥n”, s);
a=axc. s=s8s+1,;
b=5+a/b; s=§+ 2;
o=b @ c; § =8+ 3 .
printf (“2kaime no s = %d¥n”, s);
printf (” a=%d¥n b=%d¥n c=%d¥n”, a,b,c). d =s;
} return 0; d=d - b;
rintf (“1kaime no d = %d¥n”, d);
HAKBR e pdzd_1; 0
b:36 d=d - 2;
i printf(“2kaime no d = %d¥n”, d);
| return 0;
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#include <stdio.h> lkaimenos ANS.] 5 ]
triatiliotd) 2kaimenos ANS.[ 11 ]
{ lkaimenod ANS] 9 ]
intab,c: 2kaimenod ANS[ 6 1
a=10;
b=6;
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c=b+a/c;
orintf("a=%d¥n b=%d¥n c=%d¥n".a,b,c): #include <stdio.h>
return 0; . . )
J int main(void)
mjﬁ&/ int ten;
b= (9 scanf( "@", &ten ):
c= @ ift @ >= @ )|
printf(" &18 ¥n");
else{
" 1] \A i
® ANS[ 16]@ ANS[ 24 1® ANS[ 28 ] } printf(" FE1& ¥n”);
| return O:
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#include <stdio. h>

int main(void)

float r, s, X;

printf("FZFr =7);

@D ("%F”, &r) ;

s=3. 14%(2);

X=2%3. 14x*r;

@ ("mEmFE s =%f¥n",s);

@ ("HRE x =%f¥n”, x) ;
return O;
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FEr =1

m1g s =3. 140000
F1J& x =6. 280000

@ ANS.[ scanf ]
@ ANS. r*r ] ®ANS.[ printf ]
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n=107325
S=1+2+3+4+5+6+7+8+9+10=( @ )
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1+10=11

2+ 9=11

3+ 8=11

4+ 7=11

5+ 6=11
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1+10[=11
2+ 911
3+ 8= 1
4+ 7Ff1
5+ 6|11
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[1+2+3+4+5+6+7+8+9+10]=[11X5]
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1+20=21 8+13=21
2+19=21 9+12=21
3+18=21 10+11 =21
4+17=21

5+16=21

6+15=21

7+14=21
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#tinclude <stdio. h>

int main(void)

int n,s;
printf "nETOMERD ST 0T 5 L¥n");
printf "nDEIEAR") .

scanf ("%d”, @) ;
$= n/2x(1+Q) ;
printf ("Q ETOH = %d¥n”, @,0);

return 0;
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